]

GSE Algebra i

Name:

3A — Polynomial Characteristics

Date:

3A.1 — Homework

5. fX)=-2x*+x+6

Inc: ('vo}-z-s) Dec: (.7-5, 0o)

Rel. Max{:2%,6:13) Rel. Min: _NA

Abs. Max:(:2 5, bt $§Abs. Min: _N &

Domain: (& Range: (\' ve (o-(3)

4 (0.25,6.13)
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6. f(x)=x>+3x?-4x-12

Rel. Max{Z2:S,1.1) Rel. Min: ("5,43-\)

Abs. Max: N A

Abs. Min: _ N B

|nc:(-v=.‘1~5y‘-5:°‘b>ec: (-2.5, 1. s)
Roofts: {-55) ('?-;o)y-im‘; (o.—n%
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Identify the y-intercept and the # of zeros

7. fix)=x®-16

Y-In(O ; e )

# of Zeros: _ =

8. fx)=x*+x-1

Y—In(.o r ( ) # of Zeros: 2.

9. f(x)=9x*+x>-3x-10

vinfo10)  #ofzeros _H

10. fix}=x>-x-2

Y—In’r:(ol '7'3 # of Zeros: 3

11. f(x)=7x

Y-Int: (0,0 )

# of Zeros: (

12. fiX)=—2x° +7

Y-Int: fo.'l ) # of Zeros: 3




